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PART " I

Answer all the questions, 2 marks each for ons question,

01 . Write the next iwr: terms ,if the toilowing nun"iber pattern,

7,1'1,15,'19,

,\,J
t,) {-.

03

il4.

When thegenerei terrnrithe numberpattern is 2n - l, whit:h term is 449?

Sinrplify. (+1C) + (-3)

Find the perimeterof the given cornpCIsite pleine fisr.r,e

2 5cm

Find the conrplement of -30t,

Llsing the nirrnher line find the value of (+S) i+ri)

lf P = {square nlrmbers fronr 1 to 30} show set P as a venr) iiiagrailt

Find ther valu*

:fl:irr-iIi
('4) x (+0)

05

00

.\'?
ir;

CB,

rl9.
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FinrJ the value oix',

,\\\-_\\\ \-- 
13C

l/-c_ - -_.a' x

,"/',/

\#rtie as th* pr-ociirct ,:f iuro factors 4x'+ 1 ZxI - 16xyr,

Simplify, i5x1' r (2r:)'

Underline the cor rect statentent.

The pair of adjagent angles of the given figure is,AA(i) p0il and ROS

ii,) e, n anct s$e
AA

iiiii PC,S an,J SCe

RS\-/\i
=t-..r 

/

"tt^ ,/

%

13,

14

15

4h'tw,

17.

19

20

Tl"ere ;-ire ?0 faces anC 12 vertices in a Regular icosahedron By using the Eular's Relationship find the number of
edges.

Find the value.

1B Add Months

I

Dates Hours

12 15

25 10

The Area of the $quare shaped flower becl is 62sm2

Write 5.08t as kilograms.

, Find the one side length arrrJ then findg the perimeter of it.

f--:--:-*- 
I fr*- .*.-'"*.%B+n**!ffi

I to ccw,nload pfi$t papers visit
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PART - II

,VA-lite a!i$y,*1+:1 i:,i'tiy fill.] {iit'}sii,;n6,,i ; l,iir;i";i* E:'ai:iA fr"\f (i{}t Litle$tgiili'

r-iUffiher pait*i n whiCh is Star^teil ii"r"li"n 'i is,r\ I i ir'i
lit ;Jti-r r t' :r'

(i)

(ii)

iii)

Find the first term of the given number pattern ' ;

, Find the 1 zth tei'm of the given number pattern.

lf 1 S x 1 6 = }h}then which term is 120 ofthe given number pattern,

r;^{1
\|J i (i) Find the sum oi the 12th term of the number pattern lvhich general term is '2n' arrd iire 1 3th tee'm oi ih+

number patten which general term is 2n - 1 '

iii) Which term of the number pattern of the sum of ihe above answer is satisfied cf general terrn 2n.

02 (A)

03

'i'he perimeter oi the given iectangle is

20cm and length of a reciangie is 50cm

(i) Find the perimeter of the square?

(ii) Find the breadth of a rectangle.

iwice the perimeter 0f ihe $qual'e, Cne si,Je lcncih of a square 15

(b) The pei'imeter of the square shape tile is 40cm

The length of the rectangularshape living room is 6rn and tiie breadth is 4m.

iil Hrw many til*s are rreedecl length wise without gaps in one illw.

tiii Fiow many tiles are neeclecl bi"eadth wise wiihoutgaps in one column '

(iii) How many tiles are needed to lay tiles completely.

(A) price of 1kg of sugar is Rs. X , price of 1kg of dhal is Rs. Y and price of 1kg of tea leaves is Rs' Z' write an

algebraicexpressionforthemoneyspenttobuy2kgofsugar,l l/2kgofdhaland2509oftealeaves'

(B) Sintplify.

ii) 4 (3P i' 2q -:1)

{jiJ 3 {x + 4)- 2 {x- $

(C) lfa=3,b=4find2(3a+b)+a'4h

I

I

I

I
t

+
I

I

I
I

L-*
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, l.l A ,cordtng to the given data is pOtJ is a straight !ir:e or noi? Give answer fcr your answer.

iii)

.\\\
,"\-. 

\ \\\ 
,,,,

5I.)--."'-. ,i 4ll
irG

AB is a straightlrne segrnent, Fincl the rnagnitude 0f theAPQ^

a /R

A

1,, -..);1:\
,l

{iiii AB, CD, EF are three straight line $egixenis. Find the'/aius r-rf x,y,z,

a
\\

AccorCing to the given data, [:ind the value of 2x.

c_--\
\.

Anrong 1 50 farnilies 4,05t of clhal is distributed. Find the quantity received by one fanrily in killograms

I

iiv)

n

06 tii

iii)

Write as a poy,/ei"of a prodllct 27 xp'x q'

Find the vaiue c;f x in th* sxpr*ssir;i.: x2 = b' . ,i,*,:

lf a=(-1) , b='l andt=r?

Simplify, (4p)' x (3p)'

show that 27 x 64 as 123.

(iii)

(iv)

v X

-.-l{ 
),"'z*,inT-T- A

I

I

I

I

!

I

I

B

05, (A) Themassof alorryis2.750t, Massof riceS.l04tpotatoes 1.025t,dhal0.25tarelordedtoit.

(i) Find the total mass of the lorry with the items

(ii) \#rite it as killograrns (kg)

t

(b) The mass af airon pole is 2t 5t)0k9. Find the nl;is of 5 such iri:n poies.

{C:\

(D) Acertain house need

month

13.5k9 of rice for consumption for one week. Find the total mass of rice needed fcr one
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